Beaded Doily Coaster
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L % This is a pretty easy pattern I've seen at craft shows in my area. | just
L bought a doily and figured out the pattern. | added the beads on my
ey > F version, they weren't on the ones that | saw.
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Luster Sheen Acrylic Thread, 1 ball
crochet hook, size D
about 64 beads (to fit size of thread) (optional)

Ch. 6, join with a slip stitch to form a ring.

Rnd 1: (Right side): Ch 3 (counts as first dc, now and throughout), 15 dc in ring; join with sl st to
first dc: 16 dc.

Rnd 2: Ch 5, dc in same stitch, ch 1, skip next dc, * (dc, ch 2, dc) in next dc, ch 1, skip next dc;
repeat from * around; join with sl st to third ch of beginning ch-5.

Rnd 3: Slip stitch in first ch-2 sp, ch 3, (dc, ch 2, 2 dc) in same sp, ch 2, skip next ch-1 sp, * (2 dc,
ch 2) twice in next ch-2 sp, skip next ch-1 sp; repeat from * around; join with sl st to first dc: 32 dc.

Rnd 4: Slip stitch in next dc and in next ch-2 sp, ch 3, (2 dc, ch 3, 3 dc) in same sp, ch 3, skip
next ch-2 sp, * (3 dc, ch 3) twice in next ch-2 sp, skip next ch-2 sp; repeat from * around; join with
sl st to first dc: 48 dc.

Rnd 5: Slip stitch in next 2 dc and in next ch-3 sp, ch 3, (3 dc, ch 3, 4 dc) in same sp,
ch 3, skip next ch-3 sp, * (4 dc, ch 3) twice in next ch-3 sp, skip next ch-3 sp; repeat
from * around; join with sl st to first dc: 64 dc.

Rnd 6: Slip stitch in next 3 dc and in next ch-3 sp, ch 3, 11 dc in same sp, ch 3, sc in next ch-3
sp, ch 3, * 12 dc in next ch-3 sp, ch 3, sc in next ch-3 sp, ch 3; repeat from * around; join with sl st
to first dc: 96 dc.

Rnd 7: Ch 4, dc in next dc, (ch 1, dc in next dc) 10 times, sc in next sc, * dc in next dc, (ch 1, dc
in next dc) 11 times, sc in next sc; repeat from * around; join with sl st to third ch of beg ch-4.

Rnd 8: Slip stitch in first ch-1 sp, slip st in next dc and in next ch-1 sp, ch 1, sc in same sp, (ch 3,
sc in next ch-1 sp) 8 times, skip next 2 ch-1 sps, * sc in next ch-1 sp, (ch 3, sc in next ch-1 sp) 8
times, skip next 2 ch-1 sps; repeat from * around; join with sl st to first sc, finish off.
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In round 8 is where | added the beads. In the 2nd ch of the ch 3 is where | added it so it would be
at the "point" of the loop.



